
UCMSG
50

C
a

m
 U

n
it

C
a

m
 U

n
it

12601259

FOR PIERCE AND FLANGE

Aerial Cam Unit General Description of UCMSG

�tHighly rigid structure with the overseas 

automobile manufacturer specification
t50, 65, 80, 150, 200mm and 300mm are 

available for the mounting width.  
�tAngle 0° to 65° increments of 5° is available.

	 (For 65 mm wide, angle 20° to 60° is in  

increments of 10°).
�tISO springs are used.

qOption for UCMSG

UMetric Key Specification(-K)

	 UCMSG50/65	 UCMSG80
	 LKU20-50 (with 3-M8 p 15 bolts)	 LKU32-50 (with 3-M8 p 15 bolts)
	 	 UCMSG150/200/300

	 	 LKU32-50 (with 6-M8 p 15 bolts)

UMetric Key Specification(-KA)

	 UCMSG50	 UCMSG80
	 LKA25-20-44 (with 3-M8 p 15 bolts)	 LKE25-32-50 (with 3-M8 p 15 bolts)
		  UCMSG150/200/300
		  LKE25-32-50 (with 6-M8 p 15 bolts)

qKey Specification 

Metric Key (with 3-M8 x 15 bolts) - K

Inch Key (with 3-M8 x 15 bolts)- US1

25

50

h
14

h
14

h
9 20

 −
0.

01
 

−
0.

039

14

9

14

2

2

30゚
h

9 20
 −

0.
01

 
−

0.
03

30゚

25
.4

 
    

−
0.

01
 

    
−

0.
03

22
44

K
A metric key is attached. 
(It is not assembled to the main unit.) 

KA

N13

Metric dedicated key is attached for 
both cam holder and driver.
(It is not assembled to the main unit.) 

Dowel pin holes of cam holder and
cam driver are changed to h13. 

Option
Code 

Specification 

E1
カムホルダ、ドライバともにメトリック仕様
の専用キーが付属します。
（本体にセットはされていません。）

US1
カムホルダ、ドライバともにインチ仕様
の専用キーが付属します。
（本体にセットはされていません。）

オプション
コード 仕　様

■キー仕様
　・メトリックキー（数量6個、M8p15ボルト付）

　・インチキー（数量6個、M8×15ボルト付）

-0
.0

1
-0

.0
3

-0
.0

1
-0

.0
3

32

2
5
.4

+0.4
+0.25

16

-0
.0

1
-0

.0
3

32 16

φ
9

h
9

h
14

30
°

30
°

φ1
4

9

3

14

25

50

9

3

14

25

50

44
22

32
o

0.
01

o
0.

03

o
0.

01
o

0.
03

50
25

20
h

9

25

30
°

10.5
3

h
14

15.5

7

h
9

h
14

25

9
3 30

°

4.5

14

o
0.

01
o

0.
03

o
0.

01
o

0.
03

44
22

32
o

0.
01

o
0.

03

o
0.

01
o

0.
03

50
25

20
h

9

25

30
°

10.5
3

h
14

15.5

7

h
9

h
14

25

9
3 30

°

4.5

14

o
0.

01
o

0.
03

o
0.

01
o

0.
03

qUCMSG50 (UCMSG80) Structure and Assembly / Disassembly 

�tDisassembly method of UCMSG50 (same for UCMSG80) 

1) Remove hexagon socket head bolt ( ) and washer ( ) and remove safety plate (UCMSG50:o 

UCMSG80:!0).

2) Remove hexagon socket head bolt ( ).

3) Shift guide bar (t) to the back then remove cam slider (w) from cam holder.

�tAssembly method of UCMSG50 (same for UCMSG80)  

1) Assemble components in the reverse order of disassembly. 

YMake sure that there is no foreign matter on the sliding area and assemble components.

YThe clearance between the guide bar/cam slider and the cam holder is controlled. Match the 

stamped serial number on the holder and slider before assembly. 

YWhen cam is disassembled and then reassembled, please do not forget to assemble all bolts 

provided

t

c

w

UCMSG50:o
UCMSG80:!0

a
b

1259-1290-eng.indd   1259-1260 15/02/19   11:13

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.  Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Archive



UCMSG
50

C
a

m
 U

n
it

C
a

m
 U

n
it

12621261

FOR PIERCE AND FLANGE

Aerial Cam Unit General Description of UCMSG

qUCMSG65 Structure and Assembly / Disassembly 

�tDisassembly method of UCMSG65

1) Remove hexagon socket head bolt ( a ) and washer ( b ), and remove safety plate (!1). 

2) Loosen hexagon socket head bolt ( c ). Remove stopper plate (!0).

3) Pull cam slider (q) from cam holder (w) to the rear. 

��tAssembly method of UCMSG65 

1) Assemble components in the reverse order of disassembly. 

YMake sure that there is no foreign matter on the sliding area and assemble components.

YThe clearance between the guide bar/cam slider and the cam holder is controlled. Match 

the stamped serial number on the holder and slider before assembly.   

YWhen cam is disassembled and then reassembled, please do not forget to assemble all 

bolts provided

q

!0

c

b
a

w

!1

qUCMSG150, 200, 300 Structure and Assembly / Disassembly 

tDisassembly method of UCMSG150, 200, 300 

1) Loosen hexagon socket head bolt ( a ) and remove hanger bolt sleeve (o). 

2) Loosen hexagon socket head bolt ( b , c ) and remove backup plate (!0).

3) Pull cam slider (q) from cam holder (w) to the rear. 

�tAssembly method of UCMSG150, 200, 300 

1) Assemble components in the reverse order of disassembly. 

YMake sure that there is no foreign matter on the sliding area and assemble components.

YThe clearance between the cam slider and the cam holder is controlled. Match the stamped 

serial number on the holder and slider before assembly.    

YWhen cam is disassembled and then reassembled, please do not forget to assemble all bolts 

provided

w

q

c

b

!0

o

a

When no accelerator (roller 
driver) is required, the unit 
may be used with the accel-
erator removed with no prob-
lem in performance.

1259-1290-eng.indd   1261-1262 15/02/19   11:13

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.  Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Archive



UCMSG
80

C
a

m
 U

n
it

13141313

 K
A metric key is attached. 
(It is not assembled to the main unit.) 

KA

 N12
Dowel pin holes of cam holder and
cam driver are changed to h12. 

Option
Code Specification 

25
50

25
50

φ
14

3

φ
9

32
 −0

.0
1

 
−0

.0
3

25
.4

   
   

   
  −

0.
01

 
   

 −
0.

03

30゚
h

9

32
 −0

.0
1

 
−0

.0
3

20
 −0

.0
1

 
−0

.0
3

30゚

h
14

9
14

9
14

3

25
50

h
14 h
9

32
 −

0.
01

 
−0

.0
3

9
14

3 30゚

Metric dedicated key is attached 
for both cam holder and driver.
(It is not assembled to the main unit.) 

qKey Specification 

Metric Key (with 3-M8 x 15 bolts) - K

Metric Key (with 3-M8 x 15 bolts) - E1

Inch Key (with 3-M8 x 15 bolts) - US1

FOR PIERCE

Catalog  No.

UCMSG
(W)

80
(K)

00
Order

Option

UCMSG80 – 00 – KOrder

For machining details or tapping hole and dowel hole 
(prepared hole and finished hole) for mounting of the 
retainer, refer to page 561. For detailed specification of 
the key, refer to page 1259. 

 
Aerial Cam Unit

qSpace for removing 

33

Bolts for assembly are not indicated.

qSpring Diagram
USpring used TJL40-152 (1 piece)
USpring constant 32.9N/mm (3.35kgf/mm)
UGuideline of spring durability 300,000 strokes

296.1
(30.2)

1585.8
(161.5)

(187.6)
1842.4

Length at initial load 143 Initial deflection 9

Free length 152

Length at final load 96 e=7.8

z

z : Spring Force at punch retraction of 5 mm
e : Spring return amount when the punch returns 5 mm

Final
Load

Initial
Load

DescriptionNo. Qty Material and Remark

qTable of Components

q

w

e

r

t

y

u

i

o

!0

1
1
1
1
1
1
2
1
1
1

FCD450
S45C(1045)
Bronze with Graphite
FC250
SCM440 with Graphite
TJL40-152
S45C(1045)
Bronze with Graphite
SS400(1020)
SS400(1020)

Cam Holder
Cam Slider
Lower Slider
Cam Driver
Guide Bar
Coil Spring
Positive Return Follower
Slide Guide
Spring Block
Safety Plate

80 00 9I31
49.0
(5.0)

98.0
(10.0)

296.1
(30.2)

1842.4
(187.6)

2485
(253.6) 34.030.2 UCMSG

製品コード
Spring Force N(kgf) Return

Force
N(kgf)

Working Force kN(tonf)

Initial
Load

Standard
Working Force 
(one million strokes) 

Allowable
Working Force
(300,000 strokes)

Final
Load

(K)(W)Catalog No.
Total

Weight
kg

Travel
S

UCMSG80 – 00

qCam Diagram
6.3

6.3

6.3

6.3

6.
3

6.
3

6.
3

41

40
a

0.
0580

12
.5

5.
5

135

40
a

0.
05

80

12.5a0.05

68

120a0.05

27
0

277

65a0.05

170

12
.5

145a0.02

55

2 -h13H7

140°

16
0

142

22

32H7

28

11
0

245a0.02

55

12.5a0.05 2-h13H7

270

4-h13-h20

4-h13-h20

32H7

22
.5

5.
5

t

y

o

u

i

q

e

w

!0

r

80(W)

0°
(K

)

30.2 Travel

90
(V

 C
en

te
r)

47

36

50
°

30.2

C3

C3

5

47

1313-1340-eng.indd   1313-1314 15/01/16   9:59

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.  Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Archive



UCMSG
80

C
a

m
 U

n
it

13161315

 K
A metric key is attached. 
(It is not assembled to the main unit.) 

KA

 N12
Dowel pin holes of cam holder and
cam driver are changed to h12. 

Option
Code Specification 

25
50

25
50

φ
14

3

φ
9

32
 −0

.0
1

 
−0

.0
3

25
.4

   
   

   
  −

0.
01

 
   

 −
0.

03

30゚
h

9

32
 −0

.0
1

 
−0

.0
3

20
 −0

.0
1

 
−0

.0
3

30゚

h
14

9
14

9
14

3

25
50

h
14 h
9

32
 −

0.
01

 
−0

.0
3

9
14

3 30゚

Metric dedicated key is attached 
for both cam holder and driver.
(It is not assembled to the main unit.) 

qKey Specification 

Metric Key (with 3-M8 x 15 bolts) - K

Metric Key (with 3-M8 x 15 bolts) - E1

Inch Key (with 3-M8 x 15 bolts) - US1

FOR PIERCE

Catalog  No.

UCMSG
(W)

80
(K)

Order

Option

Order

For machining details or tapping hole and dowel hole 
(prepared hole and finished hole) for mounting of the 
retainer, refer to page 561. For detailed specification of 
the key, refer to page 1259. 

 
Aerial Cam Unit

qSpace for removing 

Bolts for assembly are not indicated.

25

UCMSG80 – 05 – K

05

qCam Diagram

6.3

6.3

6.3

6.
3

6.
3

6.3

140°

22

153.32

72
.4

278.32

125

27
0

5.
5

28

11
5.

67

245a0.0212.5a0.05

12
.5

5580

270

32H7

120a0.05 41

40
a

0.
05

170

32H7

65a0.05

5580

12.5a0.05

12
.5

145a0.02

40
a

0.
05

15
4.

33

22
.5

5°
(K

)

5.
5

t

y

o

u

i

q

e

w

!0

!9 r

2-h13H7

4-h13-h20

6.
3

30.5 Travel

80(W)
90

(V
 C

en
te

r)

2 -h13H7

4-h13-h20

43

30.5

5°
45

°

33
.1

C3

C3

5

43

UCMSG80 – 05

80 05 9I32
49.0
(5.0)

98.0
(10.0)

324.0
(33.0)

1872.0
(190.8)

2521
(257.2) 32.030.5 UCMSG

製品コード
Spring Force N(kgf) Return

Force
N(kgf)

Working Force kN(tonf)

Initial
Load

Standard
Working Force 
(one million strokes) 

Allowable
Working Force
(300,000 strokes)

Final
Load

(K)(W)Catalog No.
Total

Weight
kg

Travel
S

324.0
(33.0)

1620.0
(165.2)

(190.8)
1872.0

Length at initial load 130 Initial deflection 9

Free length 139

Length at final load 87 e=7.0

qSpring Diagram
USpring used TJL40-139 (1 piece)
USpring constant 36.0N/mm (3.67kgf/mm)
UGuideline of spring durability 300,000 strokes

z

z : Spring Force at punch retraction of 5 mm
e : Spring return amount when the punch returns 5 mm

Final
Load

Initial
Load

DescriptionNo. Qty Material and Remark

qTable of Components

q

w

e

r

t

y

u

i

o

!0

!9

1
1
1
1
1
1
2
1
1
1
1

FCD450
S45C(1045)
Bronze with Graphite
FC250
SCM440 with Graphite
TJL40-139
S45C(1045)
Bronze with Graphite
SS400(1020)
SS400(1020)
SS400(1020)

Cam Holder
Cam Slider
Lower Slider
Cam Driver
Guide Bar
Coil Spring
Positive Return Follower
Slide Guide
Spring Block
Safety Plate
Spacer

1313-1340-eng.indd   1315-1316 15/01/16   9:59

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.  Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Archive



UCMSG
80

C
a

m
 U

n
it

13181317

 K
A metric key is attached. 
(It is not assembled to the main unit.) 

KA

 N12
Dowel pin holes of cam holder and
cam driver are changed to h12. 

Option
Code Specification 

25
50

25
50

φ
14

3

φ
9

32
 −0

.0
1

 
−0

.0
3

25
.4

   
   

   
  −

0.
01

 
   

 −
0.

03

30゚
h

9

32
 −0

.0
1

 
−0

.0
3

20
 −0

.0
1

 
−0

.0
3

30゚

h
14

9
14

9
14

3

25
50

h
14 h
9

32
 −

0.
01

 
−0

.0
3

9
14

3 30゚

Metric dedicated key is attached 
for both cam holder and driver.
(It is not assembled to the main unit.) 

qKey Specification 

Metric Key (with 3-M8 x 15 bolts) - K

Metric Key (with 3-M8 x 15 bolts) - E1

Inch Key (with 3-M8 x 15 bolts) - US1

FOR PIERCE

Catalog  No.

UCMSG
(W)

80
(K)

Order

Option

Order

For machining details or tapping hole and dowel hole 
(prepared hole and finished hole) for mounting of the 
retainer, refer to page 561. For detailed specification of 
the key, refer to page 1259. 

 
Aerial Cam Unit

qSpace for removing 

Bolts for assembly are not indicated.

14

UCMSG80 – 10 – K

10

qCam Diagram

6.3

6.3

6.3

6.
3

6.
3

6.3

164.54

274.54

110

27
0

81
.5

140°

31.1
Travel

11
7.

32

245a0.0212.5a0.05

12
.5

5580

270

32H7

120a0.05 41

40
a

0.
05

170

32H7

65a0.05

5580

12.5a0.05

12
.5

145a0.02

40
a

0.
05

5.
5

28
22

.5

15
2.

68

5.
5

22
t

y

o

u

i

q

e

w

!0

r!9

10
°(
K

)

2-h13H7

4-h13-h20

6.
3

80(W)

90
(V

 C
en

te
r)

2 -h13H7

4-h13-h20

40

40
°

31.1

10
°

31
.1

C3

C3

5

40

UCMSG80 – 10

80 10 9I33
49.0
(5.0)

98.0
(10.0)

432.0
(44.0)

1872.0
(190.8)

2514
(256.5) 32.031.1 UCMSG

製品コード
Spring Force N(kgf) Return

Force
N(kgf)

Working Force kN(tonf)

Initial
Load

Standard
Working Force 
(one million strokes) 

Allowable
Working Force
(300,000 strokes)

Final
Load

(K)(W)Catalog No.
Total

Weight
kg

Travel
S

432.0
(44.0)

1641.6
(167.4)

(190.8)
1872.0

Length at initial load 127 Initial deflection 12

Free length 139

Length at final load 87 e=6.4

qSpring Diagram
USpring used TJL40-139 (1 piece)
USpring constant 36.0N/mm (3.67kgf/mm)
UGuideline of spring durability 300,000 strokes

z

z : Spring Force at punch retraction of 5 mm
e : Spring return amount when the punch returns 5 mm

Final
Load

Initial
Load

DescriptionNo. Qty Material and Remark

qTable of Components

q

w

e

r

t

y

u

i

o

!0

!9

1
1
1
1
1
1
2
1
1
1
1

FCD450
S45C(1045)
Bronze with Graphite
FC250
SCM440 with Graphite
TJL40-139
S45C(1045)
Bronze with Graphite
SS400(1020)
SS400(1020)
SS400(1020)

Cam Holder
Cam Slider
Lower Slider
Cam Driver
Guide Bar
Coil Spring
Positive Return Follower
Slide Guide
Spring Block
Safety Plate
Spacer

1313-1340-eng.indd   1317-1318 15/01/16   9:59

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.  Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Archive



UCMSG
80

C
a

m
 U

n
it

13201319

 K
A metric key is attached. 
(It is not assembled to the main unit.) 

KA

 N12
Dowel pin holes of cam holder and
cam driver are changed to h12. 

Option
Code Specification 

25
50

25
50

φ
14

3

φ
9

32
 −0

.0
1

 
−0

.0
3

25
.4

   
   

   
  −

0.
01

 
   

 −
0.

03

30゚
h

9

32
 −0

.0
1

 
−0

.0
3

20
 −0

.0
1

 
−0

.0
3

30゚

h
14

9
14

9
14

3

25
50

h
14 h
9

32
 −

0.
01

 
−0

.0
3

9
14

3 30゚

Metric dedicated key is attached 
for both cam holder and driver.
(It is not assembled to the main unit.) 

qKey Specification 

Metric Key (with 3-M8 x 15 bolts) - K

Metric Key (with 3-M8 x 15 bolts) - E1

Inch Key (with 3-M8 x 15 bolts) - US1

FOR PIERCE

Catalog  No.

UCMSG
(W)

80
(K)

Order

Option

Order

For machining details or tapping hole and dowel hole 
(prepared hole and finished hole) for mounting of the 
retainer, refer to page 561. For detailed specification of 
the key, refer to page 1259. 

 
Aerial Cam Unit

qSpace for removing 

Bolts for assembly are not indicated.

11

UCMSG80 – 15 – K

15

UCMSG
80

qCam Diagram

6.3

6.3

6.
3

6.3

6.
3

6.
3

6.3

140°

172.58

277.58

105

27
0

90
.2

22
5.

5

11
9.

95

28

245a0.0212.5a0.05

12
.5

5580

270

32H7

120a0.05 41

40
a

0.
05

170

32H7

55a0.05

5580

12.5a0.05

12
.5

145a0.02

40
a

0.
05

22
.5

5.
5

15
0.

05

t

y

o

u

i

q

e

w

!9

!0

r

15
°°(
K

)

2-h13H7

4-h13-h20

33.9
Travel

80(W)

90
(V

 C
en

te
r)

2 -h13H7

4-h13-h20

40

15
°

33.9

35
°

31
.7

C3

C3

5

40

UCMSG80 – 15

80 15 9I34
49.0
(5.0)

98.0
(10.0)

432.0
(44.0)

1872.0
(190.8)

2507
(255.8) 32.033.9 UCMSG

製品コード
Spring Force N(kgf) Return

Force
N(kgf)

Working Force kN(tonf)

Initial
Load

Standard
Working Force 
(one million strokes) 

Allowable
Working Force
(300,000 strokes)

Final
Load

(K)(W)Catalog No.
Total

Weight
kg

Travel
S

432.0
(44.0)

1659.6
(169.2)

(190.8)
1872.0

Length at initial load 127 Initial deflection 12

Free length 139

Length at final load 87 e=5.9

qSpring Diagram
USpring used TJL40-139 (1 piece)
USpring constant 36.0N/mm (3.67kgf/mm)
UGuideline of spring durability 300,000 strokes

z

z : Spring Force at punch retraction of 5 mm
e : Spring return amount when the punch returns 5 mm

Final
Load

Initial
Load

DescriptionNo. Qty Material and Remark

qTable of Components

q

w

e

r

t

y

u

i

o

!0

!9

1
1
1
1
1
1
2
1
1
1
1

FCD450
S45C(1045)
Bronze with Graphite
FC250
SCM440 with Graphite
TJL40-139
S45C(1045)
Bronze with Graphite
SS400(1020)
SS400(1020)
SS400(1020)

Cam Holder
Cam Slider
Lower Slider
Cam Driver
Guide Bar
Coil Spring
Positive Return Follower
Slide Guide
Spring Block
Safety Plate
Spacer

1313-1340-eng.indd   1319-1320 15/01/16   9:59

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.  Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Archive



UCMSG
80

C
a

m
 U

n
it

13221321

 K
A metric key is attached. 
(It is not assembled to the main unit.) 

KA

 N12
Dowel pin holes of cam holder and
cam driver are changed to h12. 

Option
Code Specification 

25
50

25
50

φ
14

3

φ
9

32
 −0

.0
1

 
−0

.0
3

25
.4

   
   

   
  −

0.
01

 
   

 −
0.

03

30゚
h

9

32
 −0

.0
1

 
−0

.0
3

20
 −0

.0
1

 
−0

.0
3

30゚

h
14

9
14

9
14

3

25
50

h
14 h
9

32
 −

0.
01

 
−0

.0
3

9
14

3 30゚

Metric dedicated key is attached 
for both cam holder and driver.
(It is not assembled to the main unit.) 

qKey Specification 

Metric Key (with 3-M8 x 15 bolts) - K

Metric Key (with 3-M8 x 15 bolts) - E1

Inch Key (with 3-M8 x 15 bolts) - US1

FOR PIERCE

Catalog  No.

UCMSG
(W)

80
(K)

Order

Option

Order

For machining details or tapping hole and dowel hole 
(prepared hole and finished hole) for mounting of the 
retainer, refer to page 561. For detailed specification of 
the key, refer to page 1259. 

 
Aerial Cam Unit

qSpace for removing 

Bolts for assembly are not indicated.

14

UCMSG80 – 20 – K

20

qCam Diagram

6.3

6.3

6.
3

6.3

6.
3

6.
3

6.3

273.34

95

27
0

22

98
.3

5.
5

140°

22
.5

12
3.

52

245a0.0212.5a0.05

12
.5

5580

270

32H7

120a0.05 41

40
a

0.
05

170

32H7

55a0.05

5580

12.5a0.05

12
.5

145a0.02

40
a

0.
05

5.
5

28
14

6.
48

t

y

o

u

i

q

e

w

!9

!0

r

20
°(
K

)

2-h13H7

4-h13-h20

178.34

80(W)

90
(V

 C
en

te
r)

32.3 Travel

2-h13H7

4-h13-h20

35

20
°

32.3

30
°

28
.5

C3

C3

5

35

UCMSG80 – 20

80 20 9I35
49.0
(5.0)

98.0
(10.0)

391.5
(39.9)

1914.0
(194.9)

2553
(260.5) 32.032.3 UCMSG

製品コード
Spring Force N(kgf) Return

Force
N(kgf)

Working Force kN(tonf)

Initial
Load

Standard
Working Force 
(one million strokes) 

Allowable
Working Force
(300,000 strokes)

Final
Load

(K)(W)Catalog No.
Total

Weight
kg

Travel
S

391.5
(39.9)

1679.1
(171.0)

(194.9)
1914.0

Length at initial load 106 Initial deflection 9

Free length 115

Length at final load 71 e=5.4

qSpring Diagram
USpring used TJL40-115 (1 piece)
USpring constant 43.5N/mm (4.43kgf/mm)
UGuideline of spring durability 300,000 strokes

z

z : Spring Force at punch retraction of 5 mm
e : Spring return amount when the punch returns 5 mm

Final
Load

Initial
Load

DescriptionNo. Qty Material and Remark

qTable of Components

q

w

e

r

t

y

u

i

o

!0

!9

1
1
1
1
1
1
2
1
1
1
1

FCD450
S45C(1045)
Bronze with Graphite
FC250
SCM440 with Graphite
TJL40-115
S45C(1045)
Bronze with Graphite
SS400(1020)
SS400(1020)
SS400(1020)

Cam Holder
Cam Slider
Lower Slider
Cam Driver
Guide Bar
Coil Spring
Positive Return Follower
Slide Guide
Spring Block
Safety Plate
Spacer

1313-1340-eng.indd   1321-1322 15/01/16   9:59

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.  Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Archive



UCMSG
80

C
a

m
 U

n
it

13241323

 K
A metric key is attached. 
(It is not assembled to the main unit.) 

KA

 N12
Dowel pin holes of cam holder and
cam driver are changed to h12. 

Option
Code Specification 

25
50

25
50

φ
14

3

φ
9

32
 −0

.0
1

 
−0

.0
3

25
.4

   
   

   
  −

0.
01

 
   

 −
0.

03

30゚
h

9

32
 −0

.0
1

 
−0

.0
3

20
 −0

.0
1

 
−0

.0
3

30゚

h
14

9
14

9
14

3

25
50

h
14 h
9

32
 −

0.
01

 
−0

.0
3

9
14

3 30゚

Metric dedicated key is attached 
for both cam holder and driver.
(It is not assembled to the main unit.) 

qKey Specification 

Metric Key (with 3-M8 x 15 bolts) - K

Metric Key (with 3-M8 x 15 bolts) - E1

Inch Key (with 3-M8 x 15 bolts) - US1

FOR PIERCE

Catalog  No.

UCMSG
(W)

80
(K)

Order

Option

Order

For machining details or tapping hole and dowel hole 
(prepared hole and finished hole) for mounting of the 
retainer, refer to page 561. For detailed specification of 
the key, refer to page 1259. 

 
Aerial Cam Unit

qSpace for removing 

Bolts for assembly are not indicated.

8

UCMSG80 – 25 – K

25

qCam Diagram

6.3

6.3

6.
3

6.3

6.
3

6.
3

6.3

140°
188.75

268.75

80

27
0

10
5.

9

5.
5

12
8.

03

245a0.0212.5a0.05

12
.5

5580

270

32H7

120a0.05 41

40
a

0.
05

170

32H7

55a0.05

5580

12.5a0.05

12
.5

145a0.02

40
a

0.
05

5.
5

28

14
1.

97

22
.5

22

t

y

o

u

i

q

e

w

!9

!0

r

25
°(
K

)

2-h13H7

4-h13-h20

Travel

35.0

80(W)

90
(V

 C
en

te
r)

2-h13H7

4-h13-h20

35

25
°

25
°35.0

29
.6

C3

C3

5

35

UCMSG80 – 25

80 25 9I36
49.0
(5.0)

98.0
(10.0)

391.5
(39.9)

1914.0
(194.9)

2546
(259.8) 30.035.0 UCMSG

製品コード
Spring Force N(kgf) Return

Force
N(kgf)

Working Force kN(tonf)

Initial
Load

Standard
Working Force 
(one million strokes) 

Allowable
Working Force
(300,000 strokes)

Final
Load

(K)(W)Catalog No.
Total

Weight
kg

Travel
S

391.5
(39.9)

1696.5
(172.8)

(194.9)
1914.0

Length at initial load 106 Initial deflection 9

Free length 115

Length at final load 71 e=5.0

qSpring Diagram
USpring used TJL40-115 (1 piece)
USpring constant 43.5N/mm (4.43kgf/mm)
UGuideline of spring durability 300,000 strokes

z

qTable of Components

z : Spring Force at punch retraction of 5 mm
e : Spring return amount when the punch returns 5 mm

Final
Load

Initial
Load

DescriptionNo. Qty Material and Remark

qTable of Components

q

w

e

r

t

y

u

i

o

!0

!9

1
1
1
1
1
1
2
1
1
1
1

FCD450
S45C(1045)
Bronze with Graphite
FC250
SCM440 with Graphite
TJL40-115
S45C(1045)
Bronze with Graphite
SS400(1020)
SS400(1020)
SS400(1020)

Cam Holder
Cam Slider
Lower Slider
Cam Driver
Guide Bar
Coil Spring
Positive Return Follower
Slide Guide
Spring Block
Safety Plate
Spacer

1313-1340-eng.indd   1323-1324 15/01/16   9:59

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.  Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Archive



UCMSG
80

C
a

m
 U

n
it

13261325

 K
A metric key is attached. 
(It is not assembled to the main unit.) 

KA

 N12
Dowel pin holes of cam holder and
cam driver are changed to h12. 

Option
Code Specification 

25
50

25
50

φ
14

3

φ
9

32
 −0

.0
1

 
−0

.0
3

25
.4

   
   

   
  −

0.
01

 
   

 −
0.

03

30゚
h

9

32
 −0

.0
1

 
−0

.0
3

20
 −0

.0
1

 
−0

.0
3

30゚

h
14

9
14

9
14

3

25
50

h
14 h
9

32
 −

0.
01

 
−0

.0
3

9
14

3 30゚

Metric dedicated key is attached 
for both cam holder and driver.
(It is not assembled to the main unit.) 

qKey Specification 

Metric Key (with 3-M8 x 15 bolts) - K

Metric Key (with 3-M8 x 15 bolts) - E1

Inch Key (with 3-M8 x 15 bolts) - US1

FOR PIERCE

Catalog  No.

UCMSG
(W)

80
(K)

Order

Option

Order

For machining details or tapping hole and dowel hole 
(prepared hole and finished hole) for mounting of the 
retainer, refer to page 561. For detailed specification of 
the key, refer to page 1259. 

 
Aerial Cam Unit

qSpace for removing 

Bolts for assembly are not indicated.

2

UCMSG80 – 30 – K

30

qCam Diagram

30
°(
K

)

6.3

6.3

6.
3

6.3

6.
3

6.
3

6.3

196.73

261.73

65

11
2.

9

27
0

22

5.
5

140°

13
3.

42

28

245a0.0212.5a0.05

12
.5

5580

270

32H7

120a0.05 41

40
a

0.
05

170

32H7

60a0.05

5580

12.5a0.05

12
.5

145a0.02

40
a

0.
05

5.
5

13
6.

58

22
.5

t

y

o

u

i

q

e

w

!9

!0

r

2-h13H7

4-h13-h20

34.7Travel

80(W)

90
(V

 C
en

te
r)

2-h13H7

4-h13-h20 30
°

20
°

34.7

32

28
.3

C3

C3

5

32

UCMSG80 – 30

80 30 9I37
49.0
(5.0)

98.0
(10.0)

522.0
(53.2)

1914.0
(194.9)

2538
(259.0) 30.034.7 UCMSG

製品コード
Spring Force N(kgf) Return

Force
N(kgf)

Working Force kN(tonf)

Initial
Load

Standard
Working Force 
(one million strokes) 

Allowable
Working Force
(300,000 strokes)

Final
Load

(K)(W)Catalog No.
Total

Weight
kg

Travel
S

522.0
(53.2)

1713.9
(174.5)

(194.9)
1914.0

Length at initial load 103 Initial deflection 12

Free length 115

Length at final load 71 e=4.6

qSpring Diagram
USpring used TJL40-115 (1 piece)
USpring constant 43.5N/mm (4.43kgf/mm)
UGuideline of spring durability 300,000 strokes

z

z : Spring Force at punch retraction of 5 mm
e : Spring return amount when the punch returns 5 mm

Final
Load

Initial
Load

DescriptionNo. Qty Material and Remark

qTable of Components

q

w

e

r

t

y

u

i

o

!0

!9

1
1
1
1
1
1
2
1
1
1
1

FCD450
S45C(1045)
Bronze with Graphite
FC250
SCM440 with Graphite
TJL40-115
S45C(1045)
Bronze with Graphite
SS400(1020)
SS400(1020)
SS400(1020)

Cam Holder
Cam Slider
Lower Slider
Cam Driver
Guide Bar
Coil Spring
Positive Return Follower
Slide Guide
Spring Block
Safety Plate
Spacer

1313-1340-eng.indd   1325-1326 15/01/16   9:59

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.  Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Archive



UCMSG
80

C
a

m
 U

n
it

13281327

 K
A metric key is attached. 
(It is not assembled to the main unit.) 

KA

 N12
Dowel pin holes of cam holder and
cam driver are changed to h12. 

Option
Code Specification 

25
50

25
50

φ
14

3

φ
9

32
 −0

.0
1

 
−0

.0
3

25
.4

   
   

   
  −

0.
01

 
   

 −
0.

03

30゚
h

9

32
 −0

.0
1

 
−0

.0
3

20
 −0

.0
1

 
−0

.0
3

30゚

h
14

9
14

9
14

3

25
50

h
14 h
9

32
 −

0.
01

 
−0

.0
3

9
14

3 30゚

Metric dedicated key is attached 
for both cam holder and driver.
(It is not assembled to the main unit.) 

qKey Specification 

Metric Key (with 3-M8 x 15 bolts) - K

Metric Key (with 3-M8 x 15 bolts) - E1

Inch Key (with 3-M8 x 15 bolts) - US1

FOR PIERCE

Catalog  No.

UCMSG
(W)

80
(K)

Order

Option

Order

For machining details or tapping hole and dowel hole 
(prepared hole and finished hole) for mounting of the 
retainer, refer to page 561. For detailed specification of 
the key, refer to page 1259. 

 
Aerial Cam Unit

qSpace for removing 

Bolts for assembly are not indicated.

2

UCMSG80 – 35 – K

35

qCam Diagram

6.3

6.3

6.
3

6.3

6.
3

6.
3

6.3

t

y
o

u

i

q

e

w

!9

!0

r

35
°(
K

)

140°

203.2

258.2

55

27
0

11
9.

2

22

5.
5

13
9.

66

28

245a0.0212.5a0.05

12
.5

5580

270

32H7

120a0.05 41

40
a

0.
05

170

32H7

60a0.05

5580

12.5a0.05

12
.5

145a0.02

40
a

0.
05

5.
5

13
0.

34

22
.5

2-h13H7

4-h13-h20

37.7Travel 80(W)

90
(V

 C
en

te
r)

2-h13H7

4-h13-h20

32

29
.9

15
°

35
°37.7

C3

C3

5

32

UCMSG80 – 35

80 35 9I38
49.0
(5.0)

98.0
(10.0)

522.0
(53.2)

1914.0
(194.9)

2531
(258.2) 30.037.7 UCMSG

製品コード
Spring Force N(kgf) Return

Force
N(kgf)

Working Force kN(tonf)

Initial
Load

Standard
Working Force 
(one million strokes) 

Allowable
Working Force
(300,000 strokes)

Final
Load

(K)(W)Catalog No.
Total

Weight
kg

Travel
S

522.0
(53.2)

1731.3
(176.3)

(194.9)
1914.0

Length at initial load 103 Initial deflection 12

Free length 115

Length at final load 71 e=4.2

qSpring Diagram
USpring used TJL40-115 (1 piece)
USpring constant 43.5N/mm (4.43kgf/mm)
UGuideline of spring durability 300,000 strokes

z

z : Spring Force at punch retraction of 5 mm
e : Spring return amount when the punch returns 5 mm

Final
Load

Initial
Load

DescriptionNo. Qty Material and Remark

qTable of Components

q

w

e

r

t

y

u

i

o

!0

!9

1
1
1
1
1
1
2
1
1
1
1

FCD450
S45C(1045)
Bronze with Graphite
FC250
SCM440 with Graphite
TJL40-115
S45C(1045)
Bronze with Graphite
SS400(1020)
SS400(1020)
SS400(1020)

Cam Holder
Cam Slider
Lower Slider
Cam Driver
Guide Bar
Coil Spring
Positive Return Follower
Slide Guide
Spring Block
Safety Plate
Spacer

1313-1340-eng.indd   1327-1328 15/01/16   9:59

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.  Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Archive



UCMSG
80

C
a

m
 U

n
it

13301329

 K
A metric key is attached. 
(It is not assembled to the main unit.) 

KA

 N12
Dowel pin holes of cam holder and
cam driver are changed to h12. 

Option
Code Specification 

25
50

25
50

φ
14

3

φ
9

32
 −0

.0
1

 
−0

.0
3

25
.4

   
   

   
  −

0.
01

 
   

 −
0.

03

30゚
h

9

32
 −0

.0
1

 
−0

.0
3

20
 −0

.0
1

 
−0

.0
3

30゚

h
14

9
14

9
14

3

25
50

h
14 h
9

32
 −

0.
01

 
−0

.0
3

9
14

3 30゚

Metric dedicated key is attached 
for both cam holder and driver.
(It is not assembled to the main unit.) 

qKey Specification 

Metric Key (with 3-M8 x 15 bolts) - K

Metric Key (with 3-M8 x 15 bolts) - E1

Inch Key (with 3-M8 x 15 bolts) - US1

FOR PIERCE

Catalog  No.

UCMSG
(W)

80
(K)

Order

Option

Order

For machining details or tapping hole and dowel hole 
(prepared hole and finished hole) for mounting of the 
retainer, refer to page 561. For detailed specification of 
the key, refer to page 1259. 

 
Aerial Cam Unit

qSpace for removing 

Bolts for assembly are not indicated.

7
UCMSG80 – 40 – K

40

qCam Diagram

6.3

6.3

6.
3

6.3

6.
3

6.
3

6.3

210.09

245.09

12
4.

8

27
0

35

22

5.
5

140°

28

14
6.

7

245a0.0212.5a0.05

12
.5

5580

270

32H7

120a0.05 41

40
a

0.
05

170

32H7

50a0.05

5580

12.5a0.05

12
.5

145a0.02

40
a

0.
05

5.
5

12
3.

3

22
.5

t

y
o

u

i

q

e

w

!9

!0

r

40
°(
K

)

2-h13H7

4-h13-h20

39.9Travel
80(W)

90
(V

 C
en

te
r)

2-h13H7

4-h13-h20

31

31

40
°39.9

10
°

C3

C3

5
31

UCMSG80 – 40

80 40 9I39
49.0
(5.0)

98.0
(10.0)

565.5
(57.6)

1914.0
(194.9)

2523
(257.5) 29.039.9 UCMSG

製品コード
Spring Force N(kgf) Return

Force
N(kgf)

Working Force kN(tonf)

Initial
Load

Standard
Working Force 
(one million strokes) 

Allowable
Working Force
(300,000 strokes)

Final
Load

(K)(W)Catalog No.
Total

Weight
kg

Travel
S

565.5
(57.6)

1744.4
(177.6)

(194.9)
1914.0

Length at initial load 102 Initial deflection 13

Free length 115

Length at final load 71 e=3.9

qSpring Diagram
USpring used TJL40-115 (1 piece)
USpring constant 43.5N/mm (4.43kgf/mm)
UGuideline of spring durability 300,000 strokes

z

z : Spring Force at punch retraction of 5 mm
e : Spring return amount when the punch returns 5 mm

Final
Load

Initial
Load

DescriptionNo. Qty Material and Remark

qTable of Components

q

w

e

r

t

y

u

i

o

!0

!9

1
1
1
1
1
1
2
1
1
1
1

FCD450
S45C(1045)
Bronze with Graphite
FC250
SCM440 with Graphite
TJL40-115
S45C(1045)
Bronze with Graphite
SS400(1020)
SS400(1020)
SS400(1020)

Cam Holder
Cam Slider
Lower Slider
Cam Driver
Guide Bar
Coil Spring
Positive Return Follower
Slide Guide
Spring Block
Safety Plate
Spacer

1313-1340-eng.indd   1329-1330 15/01/16   9:59

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.  Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Archive



UCMSG
80

C
a

m
 U

n
it

13321331

 K
A metric key is attached. 
(It is not assembled to the main unit.) 

KA

 N12
Dowel pin holes of cam holder and
cam driver are changed to h12. 

Option
Code Specification 

25
50

25
50

φ
14

3

φ
9

32
 −0

.0
1

 
−0

.0
3

25
.4

   
   

   
  −

0.
01

 
   

 −
0.

03

30゚
h

9

32
 −0

.0
1

 
−0

.0
3

20
 −0

.0
1

 
−0

.0
3

30゚

h
14

9
14

9
14

3

25
50

h
14 h
9

32
 −

0.
01

 
−0

.0
3

9
14

3 30゚

Metric dedicated key is attached 
for both cam holder and driver.
(It is not assembled to the main unit.) 

qKey Specification 

Metric Key (with 3-M8 x 15 bolts) - K

Metric Key (with 3-M8 x 15 bolts) - E1

Inch Key (with 3-M8 x 15 bolts) - US1

FOR PIERCE

Catalog  No.

UCMSG
(W)

80
(K)

Order

Option

Order

For machining details or tapping hole and dowel hole 
(prepared hole and finished hole) for mounting of the 
retainer, refer to page 561. For detailed specification of 
the key, refer to page 1259. 

 
Aerial Cam Unit

qSpace for removing 

Bolts for assembly are not indicated.

0UCMSG80 – 45 – K

45

qCam Diagram

6.3

6.3

6.
3

6.3

6.
3

6.
3

6.3

140°

245.34

30

12
9.

7

27
0

22

215.34

5.
5

15
4.

49

28

245a0.0212.5a0.05

12
.5

5580

270

32H7

120a0.05 41

40
a

0.
05

170

32H7

50a0.05

5580

12.5a0.05

12
.5

145a0.02

40
a

0.
05

5.
5

22
.5

t

yo

u

i

q

e

w

!9

!0

r

45
°(
K

)

2-h13H7

4-h13-h20

11
5.

51

80 (W
)

90
(V

 C
en

te
r)

2-h13H7

4-h13-h20

31

33
.6

43.7

5°
45

°

C3

C3

43.7Travel

5
31

UCMSG80 – 45

80 45 9I40
49.0
(5.0)

98.0
(10.0)

565.5
(57.6)

1914.0
(194.9)

2515
(256.7) 29.043.7 UCMSG

製品コード
Spring Force N(kgf) Return

Force
N(kgf)

Working Force kN(tonf)

Initial
Load

Standard
Working Force 
(one million strokes) 

Allowable
Working Force
(300,000 strokes)

Final
Load

(K)(W)Catalog No.
Total

Weight
kg

Travel
S

565.5
(57.6)

1761.8
(179.4)

(194.9)
1914.0

Length at initial load 102 Initial deflection 13

Free length 115

Length at final load 71 e=3.5

qSpring Diagram
USpring used TJL40-115 (1 piece)
USpring constant 43.5N/mm (4.43kgf/mm)
UGuideline of spring durability 300,000 strokes

z

z : Spring Force at punch retraction of 5 mm
e : Spring return amount when the punch returns 5 mm

Final
Load

Initial
Load

DescriptionNo. Qty Material and Remark

qTable of Components

q

w

e

r

t

y

u

i

o

!0

!9

1
1
1
1
1
1
2
1
1
1
1

FCD450
S45C(1045)
Bronze with Graphite
FC250
SCM440 with Graphite
TJL40-115
S45C(1045)
Bronze with Graphite
SS400(1020)
SS400(1020)
SS400(1020)

Cam Holder
Cam Slider
Lower Slider
Cam Driver
Guide Bar
Coil Spring
Positive Return Follower
Slide Guide
Spring Block
Safety Plate
Spacer

1313-1340-eng.indd   1331-1332 15/01/16   9:59

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.  Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Archive



UCMSG
80

C
a

m
 U

n
it

13341333

 K
A metric key is attached. 
(It is not assembled to the main unit.) 

KA

 N12
Dowel pin holes of cam holder and
cam driver are changed to h12. 

Option
Code Specification 

25
50

25
50

φ
14

3

φ
9

32
 −0

.0
1

 
−0

.0
3

25
.4

   
   

   
  −

0.
01

 
   

 −
0.

03

30゚
h

9

32
 −0

.0
1

 
−0

.0
3

20
 −0

.0
1

 
−0

.0
3

30゚

h
14

9
14

9
14

3

25
50

h
14 h
9

32
 −

0.
01

 
−0

.0
3

9
14

3 30゚

Metric dedicated key is attached 
for both cam holder and driver.
(It is not assembled to the main unit.) 

qKey Specification 

Metric Key (with 3-M8 x 15 bolts) - K

Metric Key (with 3-M8 x 15 bolts) - E1

Inch Key (with 3-M8 x 15 bolts) - US1

FOR PIERCE

Catalog  No.

UCMSG
(W)

80
(K)

Order

Option

Order

For machining details or tapping hole and dowel hole 
(prepared hole and finished hole) for mounting of the 
retainer, refer to page 561. For detailed specification of 
the key, refer to page 1259. 

 
Aerial Cam Unit

qSpace for removing 

10

Bolts for assembly are not indicated.

UCMSG80 – 50 – K

50

qCam Diagram

6.3

6.3

6.3

6.3

6.
3

6.
3

6.3

225.87

13
3.

7

5

27
0

22

220.87

5.
5

140°

16
2.

97

28

245a0.0212.5a0.05

12
.5

5580

270

32H7

120a0.05 41

40
a

0.
05

170

32H7

50a0.05

5580

12.5a0.05

12
.5

145a0.02

40
a

0.
05

5.
5

10
7.

03

50
°(
K

)

22
.5

o

q

e

!9

w

!0

r

t

y

u
i

2-h13H7

4-h13-h20

46.7Travel

80 (W
)

90(V
 C

enter)

2-h13H7

4-h13-h20

35
.8

30

46.7 50
°

C3

C3

530

UCMSG80 – 50

80 50 9I41
49.0
(5.0)

98.0
(10.0)

609.0
(62.0)

1914.0
(194.9)

2508
(255.9) 30.046.7 UCMSG

製品コード
Spring Force N(kgf) Return

Force
N(kgf)

Working Force kN(tonf)

Initial
Load

Standard
Working Force 
(one million strokes) 

Allowable
Working Force
(300,000 strokes)

Final
Load

(K)(W)Catalog No.
Total

Weight
kg

Travel
S

609.0
(62.0)

1774.8
(180.7)

(194.9)
1914.0

Length at initial load 101 Initial deflection 14

Free length 115

Length at final load 71 e=3.2

qSpring Diagram
USpring used TJL40-115 (1 piece)
USpring constant 43.5N/mm (4.43kgf/mm)
UGuideline of spring durability 300,000 strokes

z

z : Spring Force at punch retraction of 5 mm
e : Spring return amount when the punch returns 5 mm

Final
Load

Initial
Load

DescriptionNo. Qty Material and Remark

qTable of Components

q

w

e

r

t

y

u

i

o

!0

!9

1
1
1
1
1
1
2
1
1
1
1

FCD450
S45C(1045)
Bronze with Graphite
FC250
SCM440 with Graphite
TJL40-115
S45C(1045)
Bronze with Graphite
SS400(1020)
SS400(1020)
SS400(1020)

Cam Holder
Cam Slider
Lower Slider
Cam Driver
Guide Bar
Coil Spring
Positive Return Follower
Slide Guide
Spring Block
Safety Plate
Spacer

1313-1340-eng.indd   1333-1334 15/01/16   9:59

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.  Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Archive



UCMSG
80

C
a

m
 U

n
it

13361335

 K
A metric key is attached. 
(It is not assembled to the main unit.) 

KA

 N12
Dowel pin holes of cam holder and
cam driver are changed to h12. 

Option
Code Specification 

25
50

25
50

φ
14

3

φ
9

32
 −0

.0
1

 
−0

.0
3

25
.4

   
   

   
  −

0.
01

 
   

 −
0.

03

30゚
h

9

32
 −0

.0
1

 
−0

.0
3

20
 −0

.0
1

 
−0

.0
3

30゚

h
14

9
14

9
14

3

25
50

h
14 h
9

32
 −

0.
01

 
−0

.0
3

9
14

3 30゚

Metric dedicated key is attached 
for both cam holder and driver.
(It is not assembled to the main unit.) 

qKey Specification 

Metric Key (with 3-M8 x 15 bolts) - K

Metric Key (with 3-M8 x 15 bolts) - E1

Inch Key (with 3-M8 x 15 bolts) - US1

FOR PIERCE

Catalog  No.

UCMSG
(W)

80
(K)

Order

Option

Order

For machining details or tapping hole and dowel hole 
(prepared hole and finished hole) for mounting of the 
retainer, refer to page 561. For detailed specification of 
the key, refer to page 1259. 

 
Aerial Cam Unit

qSpace for removing 

Bolts for assembly are not indicated.

5

UCMSG80 – 55 – K

55

qCam Diagram

6.3

6.3

6.3

6.3

6.
3

6.
3

6.3

140°

53.8

Travel

229.64

13
6.

9

27
0

229.64

22

5.
5

17
2.

07

245a0.0212.5a0.05

12
.5

5580

270

32H7

120a0.05 41

40
a

0.
05

170

32H7

60a0.05

5580

12.5a0.05

12
.5

145a0.02

40
a

0.
05

5.
5

55
°(
K

)
28

97
.9

3

22
.5

o

q

e

w

!9

!0

r

t

y

u
i

2-h13H7

4-h13-h20

80 (W
)90(V Center)

2-h13H7

4-h13-h20

31

41
.453.8 55

°
5°

C3

C3

5
31

UCMSG80 – 55

80 55 9I42
49.0
(5.0)

98.0
(10.0)

565.5
(57.6)

1914.0
(194.9)

2500
(255.1) 30.053.8 UCMSG

製品コード
Spring Force N(kgf) Return

Force
N(kgf)

Working Force kN(tonf)

Initial
Load

Standard
Working Force 
(one million strokes) 

Allowable
Working Force
(300,000 strokes)

Final
Load

(K)(W)Catalog No.
Total

Weight
kg

Travel
S

565.5
(57.6)

1787.9
(182.1)

(194.9)
1914.0

Length at initial load 102 Initial deflection 13

Free length 115

Length at final load 71 e=2.9

qSpring Diagram
USpring used TJL40-115 (1 piece)
USpring constant 43.5N/mm (4.43kgf/mm)
UGuideline of spring durability 300,000 strokes

z

z : Spring Force at punch retraction of 5 mm
e : Spring return amount when the punch returns 5 mm

Final
Load

Initial
Load

DescriptionNo. Qty Material and Remark

qTable of Components

q

w

e

r

t

y

u

i

o

!0

!9

1
1
1
1
1
1
2
1
1
1
1

FCD450
S45C(1045)
Bronze with Graphite
FC250
SCM440 with Graphite
TJL40-115
S45C(1045)
Bronze with Graphite
SS400(1020)
SS400(1020)
SS400(1020)

Cam Holder
Cam Slider
Lower Slider
Cam Driver
Guide Bar
Coil Spring
Positive Return Follower
Slide Guide
Spring Block
Safety Plate
Spacer

1313-1340-eng.indd   1335-1336 15/01/16   9:59

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.  Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Archive



UCMSG
80

C
a

m
 U

n
it

13381337

 K
A metric key is attached. 
(It is not assembled to the main unit.) 

KA

 N12
Dowel pin holes of cam holder and
cam driver are changed to h12. 

Option
Code Specification 

25
50

25
50

φ
14

3

φ
9

32
 −0

.0
1

 
−0

.0
3

25
.4

   
   

   
  −

0.
01

 
   

 −
0.

03

30゚
h

9

32
 −0

.0
1

 
−0

.0
3

20
 −0

.0
1

 
−0

.0
3

30゚

h
14

9
14

9
14

3

25
50

h
14 h
9

32
 −

0.
01

 
−0

.0
3

9
14

3 30゚

Metric dedicated key is attached 
for both cam holder and driver.
(It is not assembled to the main unit.) 

qKey Specification 

Metric Key (with 3-M8 x 15 bolts) - K

Metric Key (with 3-M8 x 15 bolts) - E1

Inch Key (with 3-M8 x 15 bolts) - US1

FOR PIERCE

Catalog  No.

UCMSG
(W)

80
(K)

Order

Option

Order

For machining details or tapping hole and dowel hole 
(prepared hole and finished hole) for mounting of the 
retainer, refer to page 561. For detailed specification of 
the key, refer to page 1259. 

 
Aerial Cam Unit

qSpace for removing 

Bolts for assembly are not indicated.

23

UCMSG80 – 60 – K

60

qCam Diagram

6.3

6.3

6.3

6.3

6.
3

6.
3

6.3

208.58

13
9.

3

20

27
0

228.58

22

5.
5

140°

61.1

Travel

18
1.

73

28

245a0.0212.5a0.05

12
.5

5580

270

32H7

120a0.05 41

40
a

0.
05

170

32H7

50a0.05

5580

12.5a0.05

12
.5

145a0.02

40
a

0.
05

5.
5

60
°(
K

)

88
.2

7

22
.5

o

q

e

w

!9

!0

r

t

y

u

i

2-h13H7

4-h13-h20

(Mounting Range)
80

80 (W
)

90(V Center)

2-h13H7

4-h13-h20

61.1 47
.5

31

60
°

10
°

C3

C3

5

31

UCMSG80 – 60

80 60 9I43
49.0
(5.0)

98.0
(10.0)

565.5
(57.6)

1914.0
(194.9)

2493
(254.4) 31.061.1 UCMSG

製品コード
Spring Force N(kgf) Return

Force
N(kgf)

Working Force kN(tonf)

Initial
Load

Standard
Working Force 
(one million strokes) 

Allowable
Working Force
(300,000 strokes)

Final
Load

(K)(W)Catalog No.
Total

Weight
kg

Travel
S

565.5
(57.6)

1805.3
(183.8)

(194.9)
1914.0

Length at initial load 102 Initial deflection 13

Free length 115

Length at final load 71 e=2.5

qSpring Diagram
USpring used TJL40-115 (1 piece)
USpring constant 43.5N/mm (4.43kgf/mm)
UGuideline of spring durability 300,000 strokes

z

z : Spring Force at punch retraction of 5 mm
e : Spring return amount when the punch returns 5 mm

Final
Load

Initial
Load

DescriptionNo. Qty Material and Remark

qTable of Components

q

w

e

r

t

y

u

i

o

!0

!9

1
1
1
1
1
1
2
1
1
1
1

FCD450
S45C(1045)
Bronze with Graphite
FC250
SCM440 with Graphite
TJL40-115
S45C(1045)
Bronze with Graphite
SS400(1020)
SS400(1020)
SS400(1020)

Cam Holder
Cam Slider
Lower Slider
Cam Driver
Guide Bar
Coil Spring
Positive Return Follower
Slide Guide
Spring Block
Safety Plate
Spacer

1313-1340-eng.indd   1337-1338 15/01/16   9:59

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.  Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Archive



UCMSG
80

C
a

m
 U

n
it

13401339

 K
A metric key is attached. 
(It is not assembled to the main unit.) 

KA

 N12
Dowel pin holes of cam holder and
cam driver are changed to h12. 

Option
Code Specification 

25
50

25
50

φ
14

3

φ
9

32
 −0

.0
1

 
−0

.0
3

25
.4

   
   

   
  −

0.
01

 
   

 −
0.

03

30゚
h

9

32
 −0

.0
1

 
−0

.0
3

20
 −0

.0
1

 
−0

.0
3

30゚

h
14

9
14

9
14

3

25
50

h
14 h
9

32
 −

0.
01

 
−0

.0
3

9
14

3 30゚

Metric dedicated key is attached 
for both cam holder and driver.
(It is not assembled to the main unit.) 

qKey Specification 

Metric Key (with 3-M8 x 15 bolts) - K

Metric Key (with 3-M8 x 15 bolts) - E1

Inch Key (with 3-M8 x 15 bolts) - US1

FOR PIERCE

Catalog  No.

UCMSG
(W)

80
(K)

Order

Option

Order

For machining details or tapping hole and dowel hole 
(prepared hole and finished hole) for mounting of the 
retainer, refer to page 561. For detailed specification of 
the key, refer to page 1259. 

 
Aerial Cam Unit

qSpace for removing 

Bolts for assembly are not indicated.

UCMSG80 – 65 – K
23

65

qCam Diagram

6.3

6.3

6.3

6.3

6.
3

6.
3

6.3

140°

203.6730

27
0

14
0.

8

233.67

22

5.
5

19
1.

87

28

245a0.0212.5a0.05

12
.5

5580

270

32H7

120a0.05 41

40
a

0.
05

170

32H7

50a0.05

5580

12.5a0.05

12
.5

145a0.02

40
a

0.
05

5.
5

65
°(
K

)

78
.1

3

22
.5

o

q

e

w

!9

!0

r

t

y

u

i

2-h13H7

4-h13-h20

70.9

Travel

80 (W
)

90(V Center)

2-h13H7

4-h13-h20

31

65
°

70.9 56
.2

15
°

(Mounting Range)80

C3

C3

5

31

UCMSG80 – 65

80 65 9I44
49.0
(5.0)

98.0
(10.0)

565.5
(57.6)

1914.0
(194.9)

2483
(253.4) 32.070.9 UCMSG

製品コード
Spring Force N(kgf) Return

Force
N(kgf)

Working Force kN(tonf)

Initial
Load

Standard
Working Force 
(one million strokes) 

Allowable
Working Force
(300,000 strokes)

Final
Load

(K)(W)Catalog No.
Total

Weight
kg

Travel
S

565.5
(57.6)

1818.3
(185.2)

(194.9)
1914.0

Length at initial load 102 Initial deflection 13

Free length 115

Length at final load 71 e=2.2

qSpring Diagram
USpring used TJL40-115 (1 piece)
USpring constant 43.5N/mm (4.43kgf/mm)
UGuideline of spring durability 300,000 strokes

z

z : Spring Force at punch retraction of 5 mm
e : Spring return amount when the punch returns 5 mm

Final
Load

Initial
Load

DescriptionNo. Qty Material and Remark

qTable of Components

q

w

e

r

t

y

u

i

o

!0

!9

1
1
1
1
1
1
2
1
1
1
1

FCD450
S45C(1045)
Bronze with Graphite
FC250
SCM440 with Graphite
TJL40-115
S45C(1045)
Bronze with Graphite
SS400(1020)
SS400(1020)
SS400(1020)

Cam Holder
Cam Slider
Lower Slider
Cam Driver
Guide Bar
Coil Spring
Positive Return Follower
Slide Guide
Spring Block
Safety Plate
Spacer

1313-1340-eng.indd   1339-1340 15/01/16   9:59

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.  Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Archive




